MATHEMATICS: if you need additional help please
‘ L U E Y contact us at 1300 182 000 or visit
LEARNING D I V I S I o N our website clueylearning.com.au

g Learning Objective: To use mental and informal written strategies for division

Use your knowledge of multiplication and division facts to complete the number sentences.

36 =+ 5 = remainder 30 =+ 4 = remainder
2 + 3 = remainder 28 + 5 = remainder
43 + 5 = remainder 22 + 4 = remainder
29 =+ 3 = remainder 29 =+ 5 = remainder
19 + 5 = remainder 18 + 4 = remainder

Complete the questions below.

Write a number sentence and solve the word problem. Write a number sentence and solve the word problem.

Henare is making fruit salads for his 4 children.

Kiri has 16 dog treats and 3 dogs. How many He has 14 strawberries. How many should each

treats should each dog get?

child get?
+ = remainder = = remainder
Circle the answer to the division Circle the answer to the division Circle the answer to the division
problem. problem. problem.
 sees-
7 remainder 3 6 remainder 1 8 remainder 2
8 remainder 2 6 remainder 2 10 remainder 3

7 remainder 1 7 remainder 1 11 remainder 3
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g Learning Objective: To use mental and informal written strategies for division

Use your knowledge of multiplication and division facts to complete the number sentences.

36 + 5 =5 remainder 1 30 + 4 =| 7 remainder 2
2 + 3 =7 remainder 1 28 + 5 =] 5 remainder 3
43 + 5 =] 8 remainder 3 22 + 4 =| 5 remainder 2
29 + 3 =| 9 | remainder | 2 29 + 5 =] 5 remainder | 4
9 + 5 = 3 remainder | 4 188 + 4 = 4 remainder 2

Complete the questions below.

Write a number sentence and solve the word problem. Write a number sentence and solve the word problem.

Henare is making fruit salads for his 4 children.

Kiri has 16 dog treats and 3 dogs. How many He has 14 strawberries. How many should each

treats should each dog get?

child get?

16 | = 3 = 5 remainder 1 14 | =+ 4 = 3 remainder 2
Circle the answer to the division Circle the answer to the division Circle the answer to the division
problem. problem. problem.
s

q 7 remainder 3 D 6 remainder 1 8 remainder 2
8 remainder 2 q 6 remainder 2 D 10 remainder 3

7 remainder 1 7 remainder 1 q 11 remainder 3 D




